M HMEAZAE A
A 2

=
==Yty
g2l MSAE 29

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HMSAEAS & 8,936,638 10,870,785 AN 1,934,147
Xl 3,090,000
J| 144,296
< 47,002
Al 5,655,340
MBI ALXSA(2L2Z /M) 8,024,049 9,969,857 A 1,945,808
X 3,090,000
J| 144,296
< 47,002
Al 4,742,751
HEAE 2F 1,578,797 2,077,520 AN498,723
lelga =24 689,928 663,497 26,431
101 @124l 91,517 84,877 6,640
04 JIZHHZ2XNHESE S+ 91,517 84,877 6,640
OgstEZ =LA 2 9,416
—Jl=s 55,000 «27 L »4H 5,940
- =X 55,0003 x4 x4H 880
—5d=4 55,000 x6&d x1.5+4H 1,980
PN 55,0003 x 1 »4H 220
— ZHAY| 3,000 «33 »4H 396
Oflelga s33H 2y 61,575
—Jlas 44,640 +2522 «3YH 33,748
— Fx=g 44,6403 «53 «3H 7,098
-5 44,6403 x1.5+60L x3H 12,053
— XY 44 6403 <122 «3H 1,608
— 2hAlH| 3,000 252 x3H 2,268
—EA= 3% +1,600,000& 4,800
Oflelga i 29 FY 20,526
—Jles 44 640 x2522 « 1Y 11,250
— == 44,6403 +53L «1H 2,366
-5 44,6403 x1.5+60L x 14 4,018
—HxX=sg 44,6403 <122 «1H 536
— ZHAY| 3,000& 2522 «1H 756
—E&= 128 +1,600,000& 1,600
201 Let249] 463,111 457,320 5,791
01 At 22l 89,210 87,510 1,700
Oblelga 2238 P 28,350
—St&EX 52,0003 x 10 A 128 6,240
—HEES=S 32,0003 «10 A+ 128 3,840
—Hl% 30,000 x10 A 128 3,600
—&dL BF 20,0003 x185+12& 4,320
—3238 MYJ 5% 4,500& *1,5000H 6,750




A MEAEAML L

M AQ AAST (2L AZ/HS)
Sl MSAE 29 (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
— NEH L ek 300,000& x12& 3,600
onlelga 29 &4l 33,500
-= S48 H& 40,000& *300H 1,200
— AP & H| 400, 000& *x53] 2,000
—0lelg2 HE 2 300,000& x12& 3,600
— 2 JFXIA 1,500,000& ~4& 6,000
—-JlE =8 1,500,000& x12& 18,000
—H2AIAE DL E = 100,000& x12& 1,200
—Z2Mxel N 1,500
O =9 22l Zhl 3,000
— 9% H3 200,000& x12& 2,400
— & 2AAN =2 50,000& *123] 600
Ogbte=2H| 24,360
— 2O0IHHIAIAE 22| dl
250,000& x12& 3,000
— &It e CHEY & 2
1,150,000& ~12& 13,800
— d2IHOIE 2elUE /A =22
150,000& ~12& 1,800
— ABAIE Y5t el A =85
160,000& ~12& 1,920
— At oM 2tel o AE =2
100,000& x12& 1,200
- &0 LUz 55,000 4 x12& 2,640
S=2294| 373,901
03322 ¢ MA 288,101
— 5222 L T AIJIA &EHl HDI| & AHI
500,000& *23] 1,000
—MIR22 47 ,500kw* 140& 122 79,800
—SAJIA 22 506,073MJ*24 .73 x12& 150,001
- = QS (SLI]) 100,000& ~12& 1,200
— Mol=E 22 4,500,000& +12& 54,000
— &t e 232 1,050,000& 23] 2,100
Oolelgz Al& & X gl 82,600
— 2 A& 3,300,000& =2CH 6,600
— HLEE D] N2 2,500,000& =2CH 5,000
—&2F HiEZ dl 5,000
—J|HA =&sEHD Al 1,000,000 x4= 4,000
— 3 AEH gEx ms| 2,500
— XASHOHEH Al 1,500
— =g & EFx4H| dl 5,000
— Mo A S H &M ADE 5,000
—2X4&d 24 WA 5,000
—NH4EXx HEA 2,000,000 *23| 4,000




2N
X ZH -
L= B

el

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
T EEP 2,000
—gAIT el 3,000
—2YF Y AN B2 8o
2,000,000 *23| 4,000
—0lclg2 AIES(IIH,HE ,HI|, AR
22| 20,000
—0lelg2d HE2 UAE SeHI ¢ HA 10,000
OXrg HBr| 3,200
— BN 'Y= 50,000& 23] 100
— s BEE2(18) 700
-2 &€ ddls 200,000& x12& 2,400
203 ¥R =&XH| 2,000 2,000 0
03 A ZHF=XH R = XIH| 2,000 2,000 0
onlelga 29 g2 F&4| 2,000
206 M = Hl 71,600 74,000 AN2,400
01 X Z Hl 71,600 74,000 AN 2,400
Ox=d& =Xl 1,500,000& ~12& 18,000
Ollelga sd33H 272¢ 2,000
*=A= 2 85 2,500,000 x12& 30,000
OO0 2 363 1,800,000& x12& 21,600
207 A OH ] 20,000 0 20,000
02 & AR EHY| 20,000 0 20,000
OMESAAE 2e Tz ) 20,000
401 Al HIL 200 12,000 10,000 2,000
01 Al& H| 12,000 10,000 2,000
Ox=g& AIRA IES 4,000
oblclgdsa 85 &2l 4,000
Ofl2Ig20E HE S 4,000
405 Ko SHI 29,700 35,300 A5,600
01 JHAtY = S F SHI 29,700 35,300 A5,600
O XA FH S HI 29,700
— &8 A IR 22,400
e Al 4,300,000 =3CH 12,900
=& 23] 2,500,000& 3= 7,500
Se2sI+ 1,000,000& *x2& 2,000
—03a 42D 80,000& = 10CH 800
—MIIHAED|, 2ANE SHD| 1,500
—&FAHA EH) 1,500
— &2 T2 ) 3,500
MSAIE 22 888,869 1,414,023 N525,154




CHISAEAMSA

CAlR HABE (2

CHSEANE 293

(u]

bl

-
=2

0

/M=)

SA - ZE-B(EA) - NRAY - B S il &t o il
101 124 dl 306,099
4 D12t Z2XREES 306,099

OLLTH2ESE = .Bx7F &0 el 72,812
—Jlas 53,1603 176 L x5 46,781
—F=x=¢ 53,160 *352 x5H 9,303
-5 53,1603 *1.5+30L x5H 11,961
— X+ 53,1603 8 x5 2,127
— 2+AlH| 3,000 «176 2 «5H 2,640

OZLLITHE2SE & . U2 &#2FHH 12,315
—Jl=s 44,6403 <1762 «1H 7,857
— FI=g 44,6403 *35L «1H 1,563
-5+ 44 6403 1.5+30L 1 2,009
— QX 44 6403 +8L 14 358
— 2HAlH| 3,000& 176 14 528

OFsd=ssa & U2 33 12,315
—Jles 44,6403 <176 L «1H 7,857
— == 44,6403 «35L «1H 1,563
-5 44,6403 x1.5+30L x 14 2,009
— QX 44 64038 1 358
— ZHAY| 3,000& x176L 14 528

Ot=23L2sd & EtMdsz2 =8 22 8,001
— =2l 4,690

22 44 6403 152 «5H 3,348
FI=E 44 6403 x2 x5 447
s 44 640 +1.5%22 x5 670
ZHAMH| 3,000& 15 59 225
— SO0 2 ==2e 3,311
2z 53,160%10L x4 2,127
EEPNEE=4 53,1603 2 x4 426
s€+< 53,1603 *1.5+x2 x4H 638
2+ ALH| 3,000& 10 x4 120
Ooflelga, Z42sd =8 =X 2d 30,952
— =02l 19,204
22 44,6403 ~60 «5H 13,392
FA=E 44 6403 x8F+59Y 1,786
Xt 44 6403 2 x5 447
S22+ 44,6403 +1.5+8L «5H 2,679
2hAlH| 3,000 60 x5 900
— &O20] & =52 11,748
2= 53,160%30L x5 7,974
EIPN RS 53,1603 x4 5 1,064
At 53,1603 1 x5 266




A MEAEAML L

M AQ AAST (2L AZ/HS)
S9l: HSAY 29 (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
s 53,1603 *1.5%52 x59 1,994
2HAH| 3,000& x30! x5H 450
OsdHs dMessd 22 169,704
—-JlE2= 44,6403 x100L »30H 133,920
— F=AE 44 640 x20F=*30H 26,784
— 2tAlH| 3,000 x100 x30H 9,000
201 Bt A H| 211,192 174,992 36,200
01 AP 22l Yl 35,480 34,280 1,200
OAlI& &Hl K X Hl| 21,480
— SRS 2SS AL (AAH)
450,000 x12& 5,400
—MI|otM AL IS /E =2
325,000 12 *2JH &~ 7,800
— AUAIE SS2AUE A =22
130,000 x 1200 & 34 &~ 4,680
—SE2SE 2 4L M7
300,000& x12& 3,600
OM=EANdE X2 14,000
-9, =8 14,000
02 =294l 175,712 140,712 35,000
03322 % MA 106,712
—UdAAEX SLLSE S
32,000& *3 A+ 12 1,152
—UdAAEX SLLS 01822
55,000& *20 A+ 12& 1,320
—SESSE 2 M3 67,680
—S2A=I2 2 SARB 80,000& x12& 960
— 4ol =2 250,000& x12& 3,000
—SENHREE S 100, 000& *x23] 200
— 2| 1,900& *15,0004 28,500
—AUMSAE(HY) M BEES(1IHL) 500
—AHASAE MY SHS Y|
200, 000& *2JH 2~ 400
—SHS HSANE 2222 3,000
OAl& & Hl s XYl 69,000
—ZA=& 2 24 40,48 RAE> 20,000
— &2l &Yl 2 68 2 B 10,000
— 23 H=F 2 HLEI| N2 2 FHU 4,000
—UdAAEXNSAYUS, MYTAIEE > 20,000
— S80S MSAMNE XHE E 15,000
202 04| 6,240 6,240 0
01 2LH0HI 6,240 6,240 0
OMESAE2 HRFX 6,240




2N
X ZH -
L= B

el

M= AL AL A
Al 2

=
==Yty
HSAE 24

A - ER(EN) - AR - B of & o4 SSa HIDZ2

206 M =8l 126,038 121,038 5,000

01 = dl 126,038 121,038 5,000
OMZHl 96,038
—dlSLYNMSS 40,526
—Hlg, 2N S 9,712
— &0 8 45,800
OsHs ME3d |2 30,000

401 Al HIH 20 8] 236,000 778,000 A 542,000

01 Al&HI 234,000 776,000 A 542,000
OM=AE R 2= 173,000
—SHsIAd S xF+ 2 15,000
—S88S M= AE 2+ & FH 150,000
—HEEX =7 xES 21X 8,000
O2H=s2 ANEs B+ 2 5L 30,000
OZE2sE 284 AHE A 8,000
O& Al Z4 8,000
OMSsAd= F4& S| 15,000

03 AlE 2 THHI 2,000 2,000 0
OHM= AlE 22 2,000

405 TtatF S| 3,300 46,100 A42,800

01 ML ESFHSH 3,300 46,100 A42,800
O Xt&kF S| 3,300
— 4 =222 7Y 3,300

HEANE 2= 3,895,000 5,216,000 A 1,321,000
Xl 3,090,000
Al 805,000

BHERIsEdES2E AE 3,090,000 4,360,000 A 1,270,000
Xl 3,090,000

401 AIEHI L 2CHYI 3,090,000 4,360,000 A 1,270,000
X 3,090,000

01 A& dl 3,085,000 4,350,000 A 1,265,000
OHizele 88 78 A 3,085,000
Xl 3,085,000

03 Al€ 2 i HI 5,000 10,000 25,000
OAlE 2 bl 5,000
Xl 5,000

HEAE =4 272,000 327,000 255,000

401 A& HI L 2T 272,000 327,000 55,000

01 A€ dl 270,000 325,000 255,000
O88S Ms Ad =4 250,000
—S83 MEANE £X 250,000




A MEAEAML L

HH: AR HASI (L 22/H )

Sl MSALE 75 (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OE=EE7E ILAE &X 20,000
03 Al 2 THHI 2,000 2,000 0
O33 MEAE &X 2,000
oz MsE32d 24 453,000 417,000 36,000
401 Al HIZ 201 Y| 453,000 417,000 36,000
01 A& HI 453,000 417,000 36,000
Ooda s34 =4 453,000
MAE =32301E =4 80,000 0 80,000
401 Al HIZ 201 8] 80,000 0 80,000
01 A& HI 80,000 0 80,000
OMAZE E572A01F =&400I2HE+E) 80,000
MEHS |4 1,456,232 1,333,317 122,915
J| 144,296
< 47,002
Al 1,264,934
BHEQIH & 2 1,133,000 1,010,000 123,000
< 29,000
Al 1,104,000
201 Let24d]| 3,000 5,000 A 2,000
02 23=2gHl 3,000 5,000 A 2,000
Oz22= & HA 1,000
—ANSTHAN & BEE 1,000
O Xt & Byl 2,000
— g 580 ¥ |Xd 2,000
301 et d = 1,130,000 1,005,000 125,000
< 29,000
Al 1,101,000
Ni=td - 2RS4 = 1,130,000 1,005,000 125,000
OHHEQEE a4 QlAHl & 23l 1,130,000
< 29,000
Al 1,101,000
MEH S WA 20,160 20,160 0
= 4,838
Al 15,322
307 21201 A 20,160 20,160 0
= 4,838
Al 15,322
02 It S AHE L 20,160 20,160 0
OdaNsns 29 20,160
< 4,838
Al 15,322
HadEH=s X 72,864 72,864 0




A MEAEAML L

HzH: AlQ HAST(2FL2Z/HK)
chelr MEHS S4 (el @2)
(o
SA BB (SH) - NRAY - B Ol At o gﬁ‘&i HRE2
p]] 36,432
Al 36,432
307 gizto| A 72,864 72,864 0
J| 36,432
Al 36,432
02 Q2B AMAIE E =X 72,864 72,864 0
OEN Y MEHSA A 24| 72,864
9] 36,432
Al 36,432
MEtysoZ2)2 1H 24,480 24,480 0
= 4,664
Al 19,816
307 212t0| & 24,480 24,480 0
o= 4,664
Al 19,816
02 QIZHE AAIE 2 X 24,480 24,480 0
OEo Mswmal 3,960
& 950
Al 3,010
O&=HM=s wa 4,320
= 1,037
Al 3,283
OFAYE Madwal 9,000
& 950
Al 8,050
OHdMEM= 4,680
o=t 1,123
Al 3,557
OFgUus 3449 Hsna 2,520
& 604
Al 1,916
NAMMENE NEX K& 145,728 145,728 0
J| 72,864
Al 72,864
307 2iz2tol & 145,728 145,728 0
J| 72,864
Al 72,864
02 QIZ2FAAAIE E X 145,728 145,728 0
OME =X KX 1 24H| 145,728
J| 72,864
Al 72,864
HESHSH AYAS 50,000 50,085 N85
J| 35,000
& 4,500
Al 10,500
307 QI2t0| & 50,000 50,085 N85
J| 35,000
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Kio

Hl w

A85

AT7,000
3,000
3,000
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H3r
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178,020
107,020
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96,000
5,000
5,000

9,000
9,000

Off &t 24

H

4,500
10,500
50,000
50,000
35,000

Al

Jl|

W

4,500
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10,000

4,000

6,000
10,000

4,000

6,000
10,000
10,000

4,000

6,000

1,094,020

Al

H

Al

H

Al

H

171,020
110,020
14,020
5,500
3,000
2,500
6,000
6,000
2,520
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96,000

Al
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3,000
2,000
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2,000
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k>

M MEAELAL

HH: AR HASI (L 22/H )
2

Selr MSEA 2el (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHEQE = I MU &It 20,000
307 21201 A 27,000 27,000 0
02 QAFAAFEX 20,000 20,000 0
OL=g3 20,000
04 QIZFHALAIH 2 = 7,000 7,000 0
OHMS& AlaA 7,000
L oty OttE 3l 282,000 282,000 0
201 et 58,000 58,000 0
01 At 22l 58,000 58,000 0
Oget=&H| 50,000
— OttE Hal SHiu & tslol Fol 8,000
OtctE CHal Jt2J] 2018 FHl 4,000
— OtctE Hal &FFH 5,000
—0tetE Ual AIRd 29 3,000
—OtetE U g8 25,000
— OttE el OrXIE & 218 Hl 5,000
Ogxtz 8,000
— 0tetE U3 olsst &4 8,000
301 et a = 4,000 4,000 0
09 HALAHIEA S 4,000 4,000 0
OlbtetE SRSA Hd&X A 4,000
307 gl2tol& 220,000 220,000 0
04 DIZHHALALSE E X 220,000 220,000 0
ogotel&d otetE tal 220,000
3.18018 dd3d=U3l 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 DI2HHALALSE E X 20,000 20,000 0
O3.1&82|18 &3 U3l 20,000
CoHE e 160,000 140,000 20,000
307 21201 A 160,000 140,000 20,000
04 QIZFHALAIH B = 160,000 140,000 20,000
OE2H= U3l 160,000
ARl E M= 33,000 33,000 0
307 21201 A 33,000 33,000 0
04 QIZFHALAIRH B = 33,000 33,000 0
OAl2I & X=CHE 33,000
ARz 27 el 10,000 10,000 0
307 gl2tol & 10,000 10,000 0




k>

M MEAELAL

HH: AR HASI (L 22/H )
2

Selr MSEA 2el (cho &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
04 QI2SHALAIE E = 10,000 10,000 0
OASIAZ 2 thal 10,000
TOol MEXHE U3 80,000 70,000 10,000
307 QI2t0| ™ 80,000 70,000 10,000
04 QI2tSHALAIE E &= 80,000 70,000 10,000
Oz MEH= 3l 80,000
3 &I AUZSZ T 7,000 7,000 0
307 212t01 & 7,000 7,000 0
04 DIZHSHAFAIRE 2 X 7,000 7,000 0
Q83 &I AMBI2Z 43 7,000
d=x=E HE 3,000 3,000 0
307 212+0] & 3,000 3,000 0
04 QIZbBHAIAIRI 2 = 3,000 3,000 0
OHM9o6s =M= U3l 3,000
eS| &I BHEQE U3l 7,000 7,000 0
307 QI2t0| ™ 7,000 7,000 0
04 QI2FSHALAIE E = 7,000 7,000 0
OHES &I BHEQUEH 3 7,000
A3 &I HOIE=ZE UHE 7,000 7,000 0
307 QI2t0| ™ 7,000 7,000 0
04 BIZHBHAFAL I 2 X 7,000 7,000 0
Odeal &Il HOIEZ U3 7,000
SIEDI| HLA U3l 7,000 7,000 0
307 212t01 & 7,000 7,000 0
04 DIZHSHAFAIRHE 2 X 7,000 7,000 0
O3&I "HUua g 7,000
NtHAINSHH 3 21,000 21,000 0
307 212t01 & 21,000 21,000 0
04 QIZISHALAIE B2 X 21,000 21,000 0
OFHAIISH 3 21,000
Hed MEXs a3 12,000 9,000 3,000
307 QI2t0| ™ 12,000 9,000 3,000
04 QI2SHALAIE E &= 12,000 9,000 3,000
Ozd MEd= tal 12,000
Aatsl&) M= 3a=XZ U3 17,000 17,000 0
307 QI2t0| M 17,000 17,000 0
04 DIZHSHAFAIRE 2 X 17,000 17,000 0




M HMEAZAE A

HH: AR HASI (L 22/H )
S HSEA 22

R

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OdEl&I) d=3WaA=E 3 17,000
Had Za U3 9,000 9,000 0
307 QI2t0| ™ 9,000 9,000 0
04 QI2SHALAIE E &= 9,000 9,000 0
OdAd Z& Hal(x=,5,1) 9,000
S30 OtetE U3l 3,000 3,000 0
307 QI2t0l ™ 3,000 3,000 0
04 QIZHSHAFAIRE 2 X 3,000 3,000 0
Os39Ql OtetE U3l 3,000
gsd =3 EF2UI 25,000 25,000 0
307 212t0| & 25,000 25,000 0
04 QIZHSHAFAIE 2 X 25,000 25,000 0
Ogsdxd =32 U3 25,000
SN Y220 sF2US 7,000 7,000 0
307 QI2t01 ™ 7,000 7,000 0
04 QI2SHALAIE E = 7,000 7,000 0
O3 & 220 57 U3 7,000
UUFA MEHME XANEHEH| CHEHE 30,000 0 30,000
307 QI2t0| ™ 30,000 0 30,000
04 QI2tSHALAIE E &= 30,000 0 30,000
O&=2 NEHEHD| CHH & 30,000
N2 NS g 44U 10,000 0 10,000
307 212t0| & 10,000 0 10,000
04 QIZHSHAFAIRHE 2 X 10,000 0 10,000
Odadz ns2)| 43I U3 10,000
M323 2E HHIIE =203 20,000 0 20,000
307 212t01 & 20,000 0 20,000
04 QIZHSHAFAIE 2 X 20,000 0 20,000
OHM32s 2% MIMIIE L3203 20,000
et 2Z3g 5,000 0 5,000
307 QI2t0| ™ 5,000 0 5,000
04 QI2FSHALAIE B = 5,000 0 5,000
Odca2e T3 5,000
HAHE S A0S 7,000 0 7,000
307 QI2t0| ™ 7,000 0 7,000
04 DIZHSHAFAIRE 2 X 7,000 0 7,000
OFAE S Atalelor20 3l 7,000




EN

M MEANEA

HH: AR HASI (L 22/H )
2

R

e M AF 2el (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Aol FAMU3F 3,000 0 3,000
307 2iz2to| & 3,000 0 3,000
04 QIZ2tSHAFALS B X 3,000 0 3,000
Odel Z40U3 3,000
ASIHE Hal 45,000 0 45,000
307 QI2t0| & 45,000 0 45,000
04 CIZ2tSHALALS B = 45,000 0 45,000
OASXM=03g 45,000
M= Y S HSEA 20,000 20,000 0]
307 2I2t0| ™ 20,000 20,000 0
04 CIZ2tSHALALS B X 20,000 20,000 0
OF=2 &L S HSHA 20,000
MEHE 243 13,000 13,000 0
307 2Iz2t0| & 13,000 13,000 0
04 SIZ2HSHAAISH E & 13,000 13,000 0
OMEN=s &4d3t 13,000
L M= S0 MsUs =IO 60,000 60,000 0
307 2iz2to| A 60,000 60,000 0
04 QIZ2tSHALALS B 60,000 60,000 0
O ToAHNs Ha &It 60,000
HEHSAAH (HSAEALSN)(IIEH/IIEH 602,589 580,928 21,661
olad 2 A Y| 520,417 500,746 19,671
ol =AY 520,417 500,746 19,671
101 2121 H] 520,417 500,746 19,671
01 2 76,751 62,936 13,815
Oxlhz22LE 76,751
— 5= 11,5912 *55A| 2F* 128 x 1H 7,651
— 6= 09,8862 *55A| 2t* 122 »3H 19,575
-7 8,930 55 A| 2t 128 x4H 23,576
— 82 8,017 x55A| 2t 128 x4H 21,165
-9 7,247 x55A| 2H 128 1Y 4,784
03 RIAHL*ZZXHE = 443 666 437,810 5,856
O 2 AHEHE) 80,134
A== 1,522,650 128 »2H 36,544
— &3 16,342
Jlee 22,111,800 x4/ 12%2H 14,742
HESOHY| 400,000& *x23| x2H 1,600
— S =MY| 5,280




A MESAEAMED
Mz HMSAAH (MSAEAEA)(IIEHIIE
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
o FAH| 120,000& x12& *2H 2,880
mESE XY 100, 000& *12& x2H 2,400
— MG 1,200
ord 2| =g 50,000 128 x2H 1,200
—JIEtE 1,200
Br& G 50,0003 128 x2H 1,200
—ZXU22FE 16,741
A2 22 11,370 *20A| 2F*12& 2 H 5,458
5222 90,990 62 x2H 11,283
— X E 60,6603 x20 x2H 2,427
— I =l 200,000%2H 400
O 2 At 151,529
—-JlE2= 1,477,830 x128 x4H 70,936
—&03 31,166
|4 20,973,960% x4/ 12+4&H 27,966
H &S IHH| 400,000& *23| x4H 3,200
— 22| = M| 10,560
HoHZ A 120,000& * 128 x4H 5,760
wSEXH| 100,000& x12& x4H 4,800
-yt 2,400
ot el =% 50,0003 x12& x4H 2,400
—x2U2R 31,754
A2t 22 10,780 *20Al 2t %122 x4 H 10,349
52422 86,3103 62 x4H 21,405
— X E 57,5403 17 x4H 3,913
— I =4l 200,000& »4H 800
OB JIA 44,820
—-JI=23 1,513,690 x12& x1H 18,165
— &3 7,895
Y= 21,284,280& x4/ 121 7,095
H &S O] 400,000& *23| *»1H 800
— S|l =4 2,640
gAY 120,000 x12& «1H 1,440
WEZ x| 100,000& x12& *1H 1,200
— X OoHAC 480
A+ 40,0003 122« 1 480
— X222 14,272
AZ2ERI 22 10,940 *52 Al 2t* 122 »1H 6,827
52422 87,5803 x85 x1H 7,445
— AX =G 58,3903 20 x1H 1,168
— I =l 200,000& *1H 200
OCtUHE=0I 63,770




SN HSALAY L
HH: HHSAAH (HSAIE AL AN)(IIEH/DIIE
chel: ol 2y (S &2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
—-JlE22 1,237,920 x12& »2H 29,711
— &2 13,264
2= 17,495,0402 x4/ 12+2H 11,664
HEF Ot 400,000 *x23| x2H 1,600
— S EMY| 5,280
HoZ A 120,000& 128 x2H 2,880
mESE XY 100, 000& * 128 x2H 2,400
— X222 13,387
AZ2ERI 22 8,990 *20Al 2t* 128 +2H 4,316
S22 71,9903 63 x2H 9,071
— XSG 47,9903 18 x2H 1,728
— I =l 200,000& »2H 400
O&Cl &2 & 32,507
—-JlE2a2 1,268,860 128 x 1Y 15,227
— &2 6,756
=< 17,866,320 4/ 12x1H 5,956
S &S0ty 400,000& 23| *1H 800
— S =M 2,640
oz A 120,000 x12& *1H 1,440
eS| 100,000 128 «1H 1,200
—ZU=22xE 6,801
AR 2R 9,190& *45A1 2+ x 128 x 1Y 4,963
9422 73,520 252U x1H 1,838
— AX =G 49,0103 x18L «1H 883
— I =l 200,000& x1H 200
OM=EsAE 223 35,767
-3 1,254,010 122 «1H 15,049
— &2 6,697
Il ct 17,688, 1202 x4/ 12x1&H 5,897
H &S 0ty| 400,000 *x23| *1H 800
_ =0y 2,640
Yo FAH| 120,000 x12& *1H 1,440
wSE X 100,000 128 «1H 1,200
—x2U22Le 10,259
A2t 2R 9,090 *52Al 2t 128l »1H 5,673
52422 72,7903 63 x1H 4,586
— AX =G 48,5203 x192 x1H 922
— I =l 200,000& *1H 200
O2stM=3 & 223 35,139
A=) 1,229,420 =128 x 1Y 14,754
— &3 6,598
Il =ct 17,393,040 x4/ 12x1&H 5,798




A MSAEAMELA
HI: ANH2AZH (MSA AL A)(IIEH/DIE
chel: ol gyl CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
S &S0ty 400,000& *23| 14 800
—=o=My 2,640
HoHZAY| 120,000 *12& *1H 1,440
wSEXH| 100,000& *12& x1H 1,200
— X2 10,088
A2t 22 8,940& x52 Al 2+ x 122 x 1Y 5,579
9422 71,5703 63 x1H 4,509
— A X=G 47,7103 18«14 859
— I =l 200,000& *1H 200
Jl=23tl 82,172 80, 182 1,990
Jl23Hl 82,172 80, 182 1,990
201 et A bl 38,212 36,222 1,990
01 AFR2 2t 2l Yl 38,212 36,222 1,990
OfAEd JI=28yl 38,212
202 04| 40,440 40,440 0
01 2LHOHI 40,440 40,440 0
O=2UdAHl 40,440
203 € R =&lY| 3,520 3,520 0
02 MRt R =AY 520 520 0
(OESEEDNPIPSESS 40,000& =134 520
04 ENSIHRE=Y| 3,000 3,000 0
OFNE2Y gRF&A 250,000& = 12& 3,000
MEES (2L 22 /M=) 310,000 320,000 A 10,000
WEHH XK= 310,000 320,000 A 10,000
WWEHH K= 310,000 320,000 A 10,000
702 0|12HE2 310,000 320,000 A 10,000
01 Jl=2d&E=2 310,000 320,000 A 10,000
OM=sd=E JI2x4 310,000




